HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

NO.SD-III-CB-Tender/2024-25-294(0

Dated: 24 3/24

To

0

The Executive Engineer (IT Cell), HP.PWD., Nigam Vihar, Shimla-2.

Subject:-

Tender Notice

Enclosed kindly find herewith the tender notice for the various works as given in the notice inviting tender for uploading on department website as per notification of Principal Secretary (PW) to the Govt. of HP vide letter No. PBW(B)A(3)1/2020 dated 16th July,2021 as the works mentioned in the notice inviting tender are urgent/emergent nature of works in public interest.

Encl:- as above

Executive Engineer, Shimla Division No. III, HP.PWD.Shimlar3.

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

Scaled percentage rate tenders on form No. 6&8 are hereby invited by the Executive Engineer, Shimla Division No. III, HP.PWD, Shimla-3 on behalf of the Governor of H.P. for the following works from the eligible Contractors/Firms enlisted in HP.PWD, so as to reach in his office on or before <u>04-04-2025</u> up to 10:30 A.M. and will be opened on the same day at 11.00 A.M. in the presence of the intending Contractors/Firms or their authorized representatives. The tender form can be had from his office against cash payment (non-refundable) on any working day up to 04.30 P.M. on <u>03-04-2025</u> and the application for issue of tender form shall be received up to 1.00 P.M. on <u>03-04-2025</u>.

The earnest money in the shape of National saving Certificate/Time deposit account/saving account in any of the post office in HP, duly pledged in favour of Executive Engineer, Shimla Division No-III must accompany with the application form for the tender offer. Conditional tender and the tender received without earnest money will summarily be rejected. The Executive Engineer reserves the right to reject the tender without assigning any reason there to. Other conditions are applicable as perform No. 6&8. The offer shall remain open for 30 days.

Sr. No	Name of work	Estimated Cost in Rs.	Earnest Money in Rs.	Time	Form No	Cost of form
1	Repair/ renovation of various residential buildings under Division No-III Shimla. (SH:- Providing of mold steel staging for water tank and providing new tank for Burj Cottage near Chaura maidan Under Peterhoff Section Shimla).	Rs.98671.00	Rs.1973.00	One Month	6&8	350/-
2	A/R & M/O to various residential buildings under division No.III Shimla. (SH:- White washing, repair of cupboard shutters and other miscellaneous repair work in set No.8 type-IV at willy park under Vidhan Sabha Sub-Division).	Rs.99158.00	Rs.1983.00	One Month	6&8	350/-
3	A/R & M/O to various residential buildings under Division NO.III Shimla. (SH:- White washing, repair of chajja front side and repair of cupboard shutters and other miscellaneous repair work in set N. A-6 type-IV at MLA crossing under Vidhan Sabha Sub-division).	Rs.98739.00	Rs.1975.00	One Month	6&8	350/-
4	A/R & M/O to various residential buildings under Division No.III Shimla. (SH:-Distempering work in servant qtrs No. 16,9,3 and various vacation / due sets at brock-Hurst Shimla).	Rs. 95500.00	Rs.1910.00	One Month	6&8	350/-
5	A/R & M/O to various residential buildings under Division No-III Shimla. (SH:-Repair of cupboards and distempering work in type-III set No.12 at Brock-Hurst Shimla).	Rs.99770.00	Rs.1995.00	One Month	6&8	350/-

1. The contractor/firm shall have his GST No. and attested copy of the same be attached with the application for issue of tender form.

2. The contractor/firm should attach attested copy of registration/renewal.

3. Copy of PAN card be attached with the application form.

Executive Engineer, Shimla Division No-III, HP.PWD.Shimla-3.

Dated:-24/2

NO.SD-III-CB-Tender/2024-25- 29451 - 65

Copy forwarded for the following for information and necessary action to:-

- 1. The Engineer-in -Chief, HPPWD Nirman Bhawan, Nigam Vihar Shimla-2.
- 2. The Chief Engineer (S) HPPWD Nirman Bhawan, Nigam Vihar, Shimla-2.
- 3. The Superintending Engineers,4th Circle HPPWD Shimla -3.
- 4. The Deputy Commissioner, Shimla Distt. Shimla.
- 5. The Sub-Divisional Magistrate (U) Shimla.
- 6. All the Assistant Engineers working under this Division.
- 7. All the heads of the branches in this office.
- 8. Notice board.

Executive Engineer, Shimla Division No-III, HP.PWD.Shimla-3



Estimated Cost Rs. :-

98671.00

Earnest Money Rs. -

1973 00

e:- One Month.

Name of work:- Repair/renovation of various residential buildings under division no III Shimla. (SH:- Providing of mild steel staging for water tank and providing new

tank f	or Burj Cottage near Chaura Maidan Under Peterhoff Section Shimla.)						
SR.	Items of work	Qua	antity		Rate	Unit.	Amount.
No. 1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	0.73	Cum	In figuers 1150.00	In words Rupees Or Thousand Or Hundred Fi	ne metre.	ic 840.00
2	Dismantling G.I. pipes (external work) including excavation and refilling trenches after taking out the pipes, manually/ by mechanical means including stacking of pipes within 50 metres lead as per direction of Engineer-in-charge: 15 mm to 40 mm nominal bore	12.00	Rmt	50.00	the contract of the contract o	ifty Per running metre	600.00
3	Earth work in excavation by mechanical means (Hydrauiicxcavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including getting out and disposal of excavated earth lead upto 50 m and lift upto 1.5 m, as directed by Engineer-in-charge. All kinds of soil		Cum	350.00	Rupees The Hundred F Only	ree cum Fifty	256:00
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering complete including carriage of materials within all leads and lifts as per direction of Engineer - in - charge - All work up to plinth level: - 1:3:6 (1 cement : 3 fine sand : 6 graded stone aggregate 20mm nominal size)	r	Cum.	5500.00	Rupees F Thousand F Hundred Or	ive metre.	ubic 4015.00
5	Steel work in built up tubular (round, square orrectangular hollow tubes etc.) trusses etc including cutting, hoisting, fixing in position and applying apriming coat of approved steeprimer, including welding and bolted with special shaped washers etc. complete.		kg	115.00	Rupees Hundred Fifteen Onl	One Per/Kilogram	mme 62100.00
6	Providing and fixing M.S. welded mesh 25mm X 25mm X 3mm thick as per approved design complete by welding with electrical plant complete including applying priming coat of red lead paint as per HP.PWD. Specification 1990 Volume-I and including carriage of materials upto a leads and lifts by mechanical means and manual labour and as directed by the Engineer Charge.	id all	Sqm	650.00	Rupees Hundred Only	Six Per Squi Fifty meter	
7	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS: 1270 marked, with cover and suitable locking arrangement and making necessary holes for inlequate outlet and overflow pipes but without fittings and the base support for tank including carriage materials within all leads and lifts.(1000litre capacity)	et,	No.	8000.00	Rupees Thousand	Eight Each Only	8000 00
8	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS: 127 marked, with cover and suitable locking arrangement and making necessary holes for inlined outlet and overflow pipes but without fittings and the base support for tank including carriage materials within all leads and lifts. (500litre capacity)	et,	No.	4000.00	Rupees Thousand	Four Each I Only	4000.00
9	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cutting and making good the walls etc. 15 mm dia nominal bore (External)	ing 12.00	Rmtr	325.00	Rupees Hundred		running 3900.00
10	Providing and fixing G.I. Union in G.I. pipe including cutting and threading the pipe and mak- long screws etc. complete:15 mm nominal bore	ing 4.00	No.	150.00	Rupees Hundred	One Each Fifty	600.00

11	Providing and fixing ball cock with ball and float valve 20mm dia complete including carriage of 6.00 materials within all leads and lifts.	No.	550.00		Five Each.	3300.00
12	Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat 15.30 applied @ 0.90 ltr/ 10 sqm over an under coat of primer applied @ 0.80 ltr/ 10- sqm of approved brand and manufacture	0 Sqm	65.00	Hundred Fi Rupees Five Only	Sixty Per meter	Square 995.00
13	Providing and fixing ISI marked oxidised M.S. pressed butt hinges with necessary screws etc. 2.00 complete.	No.	60.00	Rupees	Sixty Each.	120.00
	Quoted rate in words	_ ! _			Total	98671.00
	Quoted rate in Figure					
	Conditions:-					
	Rates should be quoted for all leads, lifts and all heights irrespective of any floor level etc.					
	Sample of all the materials to be used on work shall be get approved from the					
1	Engineer-in-charge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to bureau of indian standards.					

Executivo Engineer Shimla Division No.III HP. PWD. Shimla-3.



SCHEDULE OF QUANTITY

Estimated Cost Ps Earnest Money Rs - 99158 00 1983.00

One Month

Name of work:- A/R and M/O to various residential buildings under division no III Shimla. (SH:- White washing, repair of cupboard shutters and other miscellenous repair work in Set No 8 Type-IV at willy Park under Vidhan sabha Sub-Division)

	work in Set No 8 Type-IV at willy Park under Vidhan sabha Sub-Division)	Ou	antity		Rate	Un	14	Amount.
SR.	Items of work	Qu	antity	In figuers	In words		IC.	Amount.
lo. 1	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete	108.99	Sqm.	10.00		Ten Per meter	Square	1090 00
2	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	108.99	Sqm.	60,00	Rupees Only	Sixty Per meter	Squar	e 6539 00
3	Wall painting with plastic emulsion paint of approved brand and manufacture to give an ever shade one or more coats on new work complete including carriage of materials within all leads and lifts.	155.70	Sqm.	60.00	Rupees Only	Sixty Per meter	Squa	re 9342 50
4	Painting with synthetic enamel paint on previously painted wood work surface of approve brand and manufacture of required colour to give an even shade one or more coats on old wor including carriage of materials in all leads and lifts.		Sqm	60.00	Rupees Only	Sixty Per Meter	Squa	are 10387.00
5	Providing and fixing C-Channel slider with roller necessary screws etc. complete as pedirection of engineer in charge.	er 25.00	Rmtr	150.00	Rupees Hundred Only	One Per Fifty Meter		ing 3750.00
6	Providing and fixing 19mm thick Commercial Board shutters for We fixing with nickel plate plane hinges with screws etc complete including carriage of materials within all leads and lifts a per direction of Engineer - in - charge.		Sqm	1500.00	Rupees Thousan Hundred	One Per d Five mete Only		are 8790 00
7	Providing and fixing 1.00mm thick coloured or plain lamination sheet (sunmica) on boards a wood sheets with approved adhesive and nails etc complete transporting, unloading approved municipal dumping ground for lead upto 10 km for all lifts, complete as per direction of Engineer-in-charge.	to	Sqm	890.00	Rupees Hundred Ninety C	y met		uare 5215 00
8	Providing and fixing square edges cover fillets (beading) 19mmx6mm section i/e mitring junctions with wood screws and nails complete, 1st class deodar wood, complete includ carriage of materials within all leads and lifts as per direction of Engineer - in - charge,		Rmt	30.00	Rupees	Thirty Per Me		nning 145.00
9	Providing and fixing 35mm thick panelled glazed or panelled and glazed shutters for do windows and clerestory windows Including black enamelled iron butt hinges with necess screws etc. complete including carriage of materials within all leads and lifts in 2nd class decimod.	агу	Sqm	4500.00	Thousa	s Four Pe and Five Me ad Only		quare 36900 (
	threat rest?							

Providing and fixing 35mm thick wire gauge shutters using galvanised M.S. wire gauge of I.S. 4.25 gauge designation 85G with wire of dia 0.56mm for doors windows and clerestorey windows including bright finished black enamelled iron hinges with necessary screws complete including	Sqm	4000.00	Rupees Four Per Thousand Only meter	Square 17000.00
carriage of material within all leads and lifts as per direction of Engineer-in-charge in 2nd class deoder wood.			Total	99158.00
Quoted rate in words				
Quoted rate in Figure				
Conditions:-				
Rates should be quoted for all leads, lifts and all heights irrespective of any floor level etc.				
Sample of all the materials to be used on work shall be get approved from the Engineer-in-charge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to				

bureau of indian standards.

Executive Engineer Shimla Division No.III HP. PWD. Shimla-3.



including carriage of materials within all leads and lifts

SCHEDULE OF QUANTITY

Estimated Cost Rs. -

98739.00

Earnest Money Rs. :-

1975.00

One Month.

Name of work:- A/R and M/O to various residential buildings under division no III Shimla. (SH:- White washing, repair of chajja front side and repair of cupboard shutters and other miscellenous repair work in Set No a-6 Type-IV at MLA crossing under Vidhan sabha Sub-Division) Amount. Unit. Rate

Heis	and other missesses	Qua	ntity		Rate	Un	it. Amo
	Items of work		,	In figuers	In word	s	6 4576.00
. 1	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping,	157.58	Sqm.	10.00	Rupees Only	Ten Per meter	Square 1576,00
,	sand papering and preparing the surface smooth including increases 1 mm, of approved complete	157.58	Sam.	60.00	Rupees	Sixty Per meter	Square 9455 00
2	brand and manufacturer, over the plastered was something and manufacture to give an ever	242 43	Sạm	60.00	Rupees Only	Sixty Per mater	Square 14549
3	and lifts.	d 207.41	Sqm	60.00	Rupees Only	Sixty Per Meter	Square 12445
4	Painting with synthetic enamel paint on previously painted wood work brand and manufacture of required colour to give an even shade one or more coats on old working carriage of materials in all leads and lifts. Providing and fixing C-Channel slider with roller necessary screws etc. complete as p		Rmlr	150.00	Rupees Hundred	One Per Fifty Meter	running 7500 (
5	Providing and fixing C-Channel slider with folial necessary direction of engineer in charge.	ed 11.71	Sqm	1500.00	Only Rupees Thousar	One Per	Square 1756
Е	per direction of Engineer - in - charge. per direction of Engineer - in - charge.	ply 23.43 to	Sqm	890.00	Hundre	Eight Per	Square 2085
	approved municipal dumping ground for lead upto 10 km for all lifts, complete or per approved municipal dumping ground for lead upto 10 km for all lifts, complete or per approved municipal dumping ground for lead upto 10 km for all lifts, complete or per approved to the per approved to	a at 19.36	Rmt	30.00	Ninety Rupee Only	s Thirty Per Met	
	junctions with wood scients and lifts as per direction of Engineer and strusses carriage of materials within all leads and lifts as per direction of Engineer and Strusses.	etc., 37.20		115.00	Rupee Hundr		Kilogramme 427
	Steel work in built up tubular (round, square orrectangular hollow tubes etc.) trusses including cutting, hoisting, fixing in position and applying apriming coat of approved primer, including welding and bolted with special shaped washers etc. complete.	lymer 2.10	Sqr	n. 1150.00	Fiftee	n Only	r Square 24
	primer, including welding and bolled with special shaped washers etc. competed primer, including welding and bolled with special shaped washers etc. control of the providing corrugated G.S. sheet roofing including vertical / curved surface fixed with potential coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers of G.I. limpet washers filled with white lead, including a coat of approved steel primer are coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal or curved surfaces), excluding the cost of purlins, raiters and trusses and interest or curved surfaces), excluding the cost of purlins, raiters and trusses and interest of size and shape wherever required 0.63 mm thick with zinc coating not less uncluding carriage of malerials within all leads and lifts	zontal/			Hund Only	red Fifty	

	2.50	Rmtr	750.00	Rupees	F-6.	Per Runn metre	ing 2625.00	
11	Providing flushing 38cm. overall in plain G.I. sheet fixed with galvanised iron. J or L hooks, bolts 3.50 and nuts, G.I. limpet washer and bitumen washers complete bent to shape and fixed in walls with regress.			Hundred Only	, my		3.00	
	risk certerit mortar 1.3 (1 certent : 3 sand)	Sqm	1750.00	Rupees	One	Per square metre	4900.00	
12	Providing and fixing M.S. BP Sheet 2mm thick in eaves board/facial/soffits/ceiling including 2.80 cutting, fixing and welding to steel roof members and applying a coat of red lead primer			Seven	Fiffy	mene		

Seven Hundred Fifty Only Total 98739.00

Quoted rate in words Quoted rate in Figure Conditions:

measured & paid separtely)

Rates should be quoted for all leads, lifts and all heights irrespective of any floor level etc.

complete as per the instruction of Engineer-in-charge (Base members of steel work shall be

Sample of all the materials to be used on work shall be get approved from the Engineer-in-charge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to bureau of Indian standards.

Executive Engineer



charge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to bureau of indian standards.

SCHEDULE OF QUANTITY

Estimated Cost Rs. '-

95500.00 1910.00

Earnest Money Rs. -

Time:-

One Month.

Name of work:-A/R and M/O to various residential buildings under division no III Shimla. (SH:-Distempering workin servant qtrs no 16,9,3 and various vacation /due sets at Brock-Hurst Hurst)

	Items of work	Quantity			Rate		Unit.	Amount.
				In figuers	In wo	rds		
scrapp	ring dry or oil bound distemper, water proofing cement paint and the like by sing, sand papering and preparing the surface smooth including necessary to scratches etc.	450.00	Sqm	10.00	Rupees Te	n Only	Per square metre	4500.00
the su	ng Birla white wall care putty over plaster surface after thoroughly brushing riace free from mortal drops, dust, loose materials and other foreign matters papered smooth to give final matter finish to the surface complete including ge of materials within all leads and lifts.	450.00	Sqm	60.00	Rupees Six	dy Only	Per square make	27000.00
manu work	ng wood work work with synthetic enamel paint of approved brand and facture of required colour to give an even shade one or more coats on old complete including carriage of materials within all leads and lifts white & than white	300.00	Sqm	60.00) Rupees S	xty Only	Per square metre	18660.00
manu	ng steel work work with synthetic enamel paint of approved brand and facture of required colour to give an even shade one or more coats on old complete including carriage of materials within all leads and lifts.	100.00	Sqm	55.0	O Rupees Only	Fifty F	ve Per square metre	5500.00
	mpering with oil bound washable distemper of approved brand and facture to give an even shade :Old work (one or more coats)	900.00	Sqm	45.0	O Rupees Only	Forty F	ve Per square metre	
0	ted rate in words						Total	95500.00
	ted rate in Figure							
100000000000000000000000000000000000000	itions -							
Rete	s should be quoted for all leads, lifts and all heights irrespective of any floor level etc.							
Sam	ble of all the materials to be used on work shall be get approved from the Engineer-in-							

Shimla Division No.III



SI.



Draft SCHEDULE OF QUANTITY

Estimated Cost Fes Famest Money Re 99770 00 1995 00

mn

Gee Month

Name of work:-A/R and M/O to various residential buildings under division no III Shimla. (SH:-Repair of cupboards and distempering work in Type-Illset no-12 at Brock-Hurst Shimla.)

ırst	Shimla.)					ypo maat	110-12-01-01
	Items of work	Quantity			Rato	Unit.	Amount.
				In figuors	In words		
1	Applying priming coat over new wood and wood based surfaces after and including preparing the surface by thoroughly cleaning oil, grease dirt and other foreign matter sand papering and knotting with ready mixed paint brushing wood primer pink including carriage of materials within all leads, lifts and other incidentals	40 00	Sqm		Rupees Forty Only	Per square metre	1600 00
2	Painting wood work with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade two or more coats on new work complete including carriage of materials within all leads and lifts.	40.00	Sqm		Rupees Sevency Only	Per square metre	2800.00
3	Providing and fixing aluminium handles anodized transparent or dyed to required colour & shade with necessary screws ctc complete. Including carriage of materials in all leads and littsA1 125 mm.	15.00	No	70.00	Rupees Seventy Only	/ Each	1050 00
4	Providing and fixing anodized aluminium sliding door bolt anodized colour and shade with bolts and nuts screws etc. complete, including carriage of materials in all leads and lifts. 250x16mm	1.00	No	240 00	Rupees Twr Hundred Forty Only	Each	240.00
	Providing and fixing aluminium tower bolts (berrel type) anodized trans parent or dyed to required shade and colour with screws etc. complete, including carriage of materials in all leads and lifts A) 200x10mm	10.00	No		Rupees Sevent Five Only	/ Each	750.00
	Providing and fixing bright finished or/and black enamelled iron (Helical door spring 150mm) complete including carriage of materials within all leads and lifts.	2.00	No	105.00	Rupees One Hundred Five Only	Each	210.00
7	Providing and fixing bright finished brass handles with screws etc. complete including carriage of materials within all leads and lifts. i) 125 mm	25.00	No	170.00	Rupees One Hundred Sevent	Each	4250.00
	Providing and fixing 19mm thick water proof commercial board in shelves/box for cup board with butt joints & fixing with nails & screws etc complete including carriage of materials within all leads and lifts.	12.00	Sqm	1400.00		Per square metre	16800.00
	Providing and fixing ply wood lining with butt jointing and nails (frame work and cove fillets to be measured and paid for separately) complete including carriage of materials within all leads and lifts. i) 6mm thick	12.00	Sqm	650.00	Rupees Si Hundred Fifty Only	x Per square metre	7800.00
	0 Providing and fixing 19mm thick Commercial Board shutters for up boards it/c fixing with nickel plated plano hinges with screws etc complete including carriage of materials within all leads and lifts.	16.50	Sqm	1500.00		e Per square e metre	24750.00
1	1 Providing and fixing magnetic catcher ISI marked with necessary screws etc. complete including carriage of materials within all leads and lifts.	10.00	No		Rupees Forty Only	Each	400.00

the (bacding) 19mmx6mm section i/c	20.00	Rmt	30 00 Rupees Thirty Only	Per running metre	600 00
12 Providing and fixing square edges cover fillets (beading) 19mmx6mm section i/c mitring at junctions with wood screws and nails complete including carriage of materials within all leads and lifts. 1st class deodar wood at Providing and fixing 0 80mm thick coloured or plain lamination sheet (sunmica) on 13 Providing and fixing 0 80mm thick coloured or plain lamination sheet including	16.20	Sqm	850 00 Rupees Eigh Hundred Fifty Only	Per square metre.	13770.00
boards/ply wood sheets with approved advices carriage of materials within all leads and lifes.	100.00	Sqm	10.00 Rupees Ten Only	Per square metre	1000.00
repairs to scratches etc	100.00	Sqm	60.00 Rupees Sixty Only	Per square metre	6000.00
the surface free from mortal drops, dust, hose indicates the surface complete including sand papered smooth to give final matter finish to the surface complete including carriage of materials within all leads and life.	100 00	Sqm	60 00 Rupees Staty Only	Par square metre	6000.00
manufacture of required colour to give an even shake one or more than white a work complete including carriage of materials within all leads and lifts white a condition than white	50.60	Sqm	55.00 Rupees Fifty Five Only	Per square metre	2750.00
manufacture of required colour to dive an even shall be an adversion of the work complete including carriage of materials within all leads and life.	200.00	Sqm	45.00 Rupees Forty Five Only	Per square metre.	9000.00
manufacture to give an even shade. Old work (one or more coats)				Total	99770.00
Quoted rate in words					
Quoted rate in Figure					
Fonddonn -					

Conditions -Rates should be quoted for all leads. lifts and all heights irrespective of any floor level etc.

Sample of all the materials to be used on work shall be get approved from the Engineer-incharge in advance before actual use on work and any or all of the materials which are available as per Indian standard in the market should confirm to bureau of indian standards.

> Executive Engineer Shimla Division No.III HP, PWD, Shimla-3.